
Mashup Math LLC | All Rights Reserved | Get More K-12 Math Worksheets at www.mashupmath.com 
 

1 

Name: ________________________________ 
 
Standard Equation of a Circle 
 
 
 
 
 
Part I: Identify the coordinates of the center point and the length of the radius of each circle. 
 
1.)(𝒙 + 𝟕)𝟐 + (𝒚 − 𝟗)𝟐 = 𝟒𝟗 2.) (𝒙 − 𝟏𝟐)𝟐 + (𝒚 + 𝟒)𝟐 = 𝟏𝟐𝟏 

3.) 𝒙𝟐 + (𝒚 − 𝟓)𝟐 = 𝟔𝟒 4.) (𝒙 − 𝟏)𝟐 + (𝒚 + 𝟏)𝟐 = 𝟏𝟎𝟎 

5.) (𝒙 − 𝟏𝟔)𝟐 + (𝒚 − 𝟏𝟔)𝟐 = 𝟏𝟔 6.) 𝒙𝟐 + 𝒚𝟐 = 𝟐𝟓𝟔 

7.) (𝒙 + 𝟔)𝟐 + (𝒚 − 𝟗)𝟐 = 𝟏𝟒𝟒 8.) (𝒙 + 𝟏𝟏)𝟐 + 𝒚𝟐 = 𝟏𝟔𝟗 

Part II: Write the standard equation for each circle given it’s radius and center point. 
 
9.) 𝒓 = 𝟑, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟑,−𝟒) 10.) 𝒓 = 𝟔, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟐, 𝟏𝟐) 

11.) 𝒓 = 𝟐𝟎, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟗, 𝟎) 12.) 𝒓 = 𝟓, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟕, 𝟖) 

13.) 𝒓 = 𝟏𝟒, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟎, −𝟔) 14.) 𝒓 = 𝟏𝟓, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏, −𝟏) 

15.) 𝒓 = 𝟒, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏𝟑,−𝟑) 16.) 𝒓 = 𝟏𝟐, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟏𝟒, 𝟎) 

Equation of a Circle 
 

(𝒙 − 𝒉)𝟐 + (𝒚 − 𝒌)𝟐 = 𝒓𝟐 
 
Where (h,k) are the coordinates of the center point and r is the radius. 
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ANSWER KEY 
 
Part I: Identify the coordinates of the center point and the length of the radius of each circle. 
 
1.)(𝒙 + 𝟕)𝟐 + (𝒚 − 𝟗)𝟐 = 𝟒𝟗 
𝒓 = 𝟕, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟕, 𝟗) 

2.) (𝒙 − 𝟏𝟐)𝟐 + (𝒚 + 𝟒)𝟐 = 𝟏𝟐𝟏 
𝒓 = 𝟏𝟏, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏𝟐,−𝟒) 

3.) 𝒙𝟐 + (𝒚 − 𝟓)𝟐 = 𝟔𝟒 
𝒓 = 𝟖, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟎, 𝟓) 

4.) (𝒙 − 𝟏)𝟐 + (𝒚 + 𝟏)𝟐 = 𝟏𝟎𝟎 
𝒓 = 𝟏𝟎, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏, −𝟏) 

5.) (𝒙 − 𝟏𝟔)𝟐 + (𝒚 − 𝟏𝟔)𝟐 = 𝟏𝟔 
𝒓 = 𝟒, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏𝟔, 𝟏𝟔) 

6.) 𝒙𝟐 + 𝒚𝟐 = 𝟐𝟓𝟔 
𝒓 = 𝟏𝟔, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟎, 𝟎) 

7.) (𝒙 + 𝟔)𝟐 + (𝒚 − 𝟗)𝟐 = 𝟏𝟒𝟒 
𝒓 = 𝟏𝟐, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟔, 𝟗) 

8.) (𝒙 + 𝟏𝟏)𝟐 + 𝒚𝟐 = 𝟏𝟔𝟗 
𝒓 = 𝟏𝟑, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟏𝟏, 𝟎) 

Part II: Write the standard equation for each circle given it’s radius and center point. 
 
9.) 𝒓 = 𝟑, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟑,−𝟒) 
(𝒙 + 𝟑)𝟐 + (𝒚 + 𝟒)𝟐 = 𝟗 

10.) 𝒓 = 𝟔, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟐, 𝟏𝟐) 
(𝒙 + 𝟐)𝟐 + (𝒚 − 𝟏𝟐)𝟐 = 𝟑𝟔 

11.) 𝒓 = 𝟐𝟎, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟗, 𝟎) 
(𝒙 − 𝟗)𝟐 + 𝒚𝟐 = 𝟒𝟎𝟎 

12.) 𝒓 = 𝟓, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟕, 𝟖) 
(𝒙 − 𝟕)𝟐 + (𝒚 − 𝟖)𝟐 = 𝟐𝟓 

13.) 𝒓 = 𝟏𝟒, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟎, −𝟔) 
𝒙𝟐 + (𝒚 + 𝟔)𝟐 = 𝟏𝟗𝟔 

14.) 𝒓 = 𝟏𝟓, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏, −𝟏) 
(𝒙 − 𝟏)𝟐 + (𝒚 + 𝟏)𝟐 = 𝟐𝟐𝟓 

15.) 𝒓 = 𝟒, 𝐜𝐞𝐧𝐭𝐞𝐫: (𝟏𝟑,−𝟑) 
(𝒙 − 𝟏𝟑)𝟐 + (𝒚 + 𝟑)𝟐 = 𝟏𝟔 

16.) 𝒓 = 𝟏𝟐, 𝐜𝐞𝐧𝐭𝐞𝐫: (−𝟏𝟒, 𝟎) 
(𝒙 + 𝟏𝟒)𝟐 + 𝒚𝟐 = 𝟏𝟒𝟒 

 
 
 
 
 


